Conversion Octal en Décimal (A)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Octal = 4 2. Octal = 137
Décimal = Décimal =

3. Octal = 1741 4. Octal = 1423
Décimal = Décimal =

g Octal = 1665 0. Octal = 1615
Décimal = Décimal =

T Octal = 746 8. Octal = 1422
Décimal = Décimal =

0. o 10. L
Octal = 13752 Octal = 23074
Décimal = Décimal =

MathsLibres.com




Conversion Octal en Décimal (A) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Octal = 4 2. Octal = 137
Décimal = 4 Décimal = 95
3. Octal = 1741 4. Octal = 1423
Décimal = 993 Décimal = 787
g Octal = 1665 0. Octal = 1615
Décimal = 949 Décimal = 909
T Octal = 746 8. Octal = 1422
Décimal = 486 Décimal = 786
0. o 10. L
Octal = 13752 Octal = 23074
Décimal = 6122 Décimal = 9788

MathsLibres.com




